St. Agnes Anglican Primary School

Name
Friday 5™ February, 2021.
Weekly Test
Spelling
There is ONE (1) incorrectly spelt word in each line. Draw
TASK 1. a circle around the incorrectly spelt word. Write the
correctly spelt word in the box provided for each line.

Honeybees ar amazing creatures. For more
than a thouzand years, honey has been used. It has
huuge benefits. Human bodies do not find it
diffikult to digest. This natural sweetener is known
to kill bacteria. Isnt that great? Honey can be
made by bees in gardins, parks and other places.
Honeybees work as a teem to make the honey.
Worker bees need large amonts of water, a
chemical and nectar. These matterials are
important. Yelow "pollen sacks” carry the bees'’
nectar to the hive. In genneral, honeybees make

their own honey to stay alive and healthy.
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Insert the High Frequency Words in the puzzle. Use the
TASK 2. clues. Words can go across or down. Letters are shared
when the words intersect
1
z E}
L1 [
]
ACROSS DOWN
4. synonym for full stop 1. two of something
6. a push or a pull 2. a place where two lines meet at a
7. how hot or cold something is point
8. opposite of right 3. Mathematics is one example of
this
5. Choir is held every Tuesday
night.
6. opposite of backward
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Unscramble the letters to create the High Frequency words. Put

TASK 3. ONE letter in a box. Use the clues to help you. Insert the letter
with the number into the phrase down below.
ASWTN ' Contraction for 'was not’
:
NRO Rhymes with ‘for'
ENGOIR Synonym for area or space
T
INSG Rhymes with 'mine’
NKSI This found all over your body.
LITA ? Homophone for 'tale’
VOCRE To put on top of something
z
NASD Found at the beach
SGUSE Rhymes with 'stress’
ETST Nancy scored 10/10 on her ___.
TAC A small animal with soft fur.
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Find the word in the puzzle. Words can go in any
TASK 4. direction. Words can share letters as they cross over each
other.
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ahead blood led
party rich ride
wait bad note
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